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HW 9-4 HONORS:    Multiplying Matrices 

 
 
State whether the product AB  is defined.  If so, give the dimensions of AB . 

1. : 1 3, : 3 2A B× ×   
 

2. : 2 4, : 4 3A B× ×   

3. : 4 2, : 3 5A B× ×   
 

4. : 5 5, : 5 4A B× ×   

5. : 3 4, : 4 1A B× ×   
 

6. : 3 3, : 2 4A B× ×
 
Find the product.  If it is not defined state the reason. 
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Find the product.  If it is not defined state the reason. 

14. 
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Using the given matrices, simplify the expression. 

3 2 1 2 5 6
4 2 1 0 1 3

, , , 1 2 4 , 1 4 2
6 1 2 4 2 1

2 3 3 3 1 4
A B C D E
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Solve for x and y. 
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